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Section : Part A General Intelligence and Reasoning

Q.1 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.FDB
X 2. OMK
X 3. JHF
o 4.USP

Question ID : 65497829500
Status : Answered
Chosen Option : 4

Q.2 In a certain code language, '"MANGO' is written as 'QERKS' and 'APPLE' is written as
'ETTPI'. How will '"GUAVA' be written in that language?

Ans X 1.KYFXF
X 2.KYGZE
o 3. KYEZE
X 4. KXEZE

Question ID : 65497829482
Status : Answered
Chosen Option : 3

Q.3 In a certain code language, GAME is written as TUZANOVW, and CAR is written as
XYZAIJ. How will POST be written in that language?

Ans X 1.OQNPRTSV
X 2. QRPQTUUV
& 3. KLLMHIGH
< 4. KLMNJKGH

Question ID : 65497829505
Status : Answered
Chosen Option : 3




Q.4 Select the option that is related to the third number in the same way as the second
number is related to the first number.

20:480::25:7?
Ans X 1.700
o 2.725
X 3.655
X 4.625

Question ID : 65497829488
Status : Answered
Chosen Option : 2

Q.5 Select the option that is related to the third term in the same way as the second term is
related to the first term.

ZYGOTE : ZYTOGE :: SEQUENCE : ?
Ans " 1. USQNEEEC
% 2. USQENCEE
< 3. SUQNEEEC
X 4. USNQEEEC

Question ID : 65497829504
Status : Marked For Review
Chosen Option : 2

Q6 Select the dice that can be formed by folding the given sheet along the lines.

a

I (=3 A L] i

o7

A B c °
Ans X 1. Only B and D

2 OnlyB,Cand D

X3 Only B

X4 OnlyAandC

Question ID : 65497829490
Status : Answered
Chosen Option : 2




Q.7 Aditi is the daughter of Sanket. Vritti is the daughter of Ankit. Kriti is the mother of
Mahi. Neeta is Sanket's wife. Neeta is the mother-in-law of Vritti's mother Kriti. Which
of the following statements is NOT correct?

Ans X 1. Ankit is the father of Mahi.
25 2. Vritti is the sister of Mahi.
#< 3. Aditi is the daughter of Neeta.
" 4. Kriti is the daughter of Sanket.

Question ID : 65497829506
Status : Answered
Chosen Option : 4

Q.8 If ‘A’ denotes ‘addition’, ‘B’ denotes ‘multiplication’, ‘C’ denotes ‘subtraction’, and ‘D’
denotes ‘division’, then what will be the value of the following expression?

100D (1B4)A2B(13A11)C3B (17C12)
Ans X 1.52

o 2.58
X 3.49
% 4.60

Question ID : 65497829489
Status : Answered
Chosen Option : 2

Q.9 Select the Venn diagram that best represents the relationship between the following classes.

School, Teacher, Employee

Ans

x 1.

Question ID : 65497829499
Status : Answered
Chosen Option : 1




Q.10 Select the number from among the given options that can replace the question mark
(?) in the following series.

5,9,18,34,?,95
Ans X 1.65

X 2.69
< 3.63
o 4.59

Question ID : 65497829502
Status : Answered
Chosen Option : 4

Q.11 Four number triads have been given, out of which three are alike in some manner and
one is different. Select the number triad that is different.

Ans X 1.(46, 65, 82)
X 2. (54,73, 90)
X 3.(21, 40, 57)
o 4. (39, 48, 75)

Question ID : 65497829484
Status : Answered
Chosen Option : 4

Q.12 Select the figure from among the given options that can replace the question mark (?) in the following series.

o
D
=~

Question ID : 65497829495
Status : Answered
Chosen Option : 4




Q.13 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Dermatitis
2. Desistance
3. Derogation
4. Descendant
5. Dereliction

Ans X 1.54,1,3,2
X 251,324
X 3.521,3,4
o 4.51,34,2

Question ID : 65497829492
Status : Answered
Chosen Option : 4

Q.14 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

A__B__AB_CA_BBC

Ans X 1.B,C,A A A B
X 2.B,AB,AC,B
& 3.A,B,C,A B, A
X 4.B,B,C,C,A B

Question ID : 65497829493
Status : Answered
Chosen Option : 3

Q.15 O,P Q, R, S, T and U are sitting in a row facing north. U is sitting to the immediate
right of T. Q is sitting in between R and O. P, who is on the extreme right, is sitting to
the immediate right of O. S is sitting to the immediate left of R. Who is sitting in the
middle of the row?

Ans X 1.S
 2.R
X 3T
X 4.Q

Question ID : 65497829498
Status : Answered
Chosen Option : 2




Q.16 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
Some cats are animals.
All animals are plants.

Conclusions:

1. All cats are plants.

Il. Some plants are cats.

1. Some plants are animals.
IV. All animals are cats.

Ans X 1. Only conclusion | follows
25 2. All the conclusions follow
25 3. Only conclusions I, Il and Il follow

" 4. Only conclusions Il and llI follow

Question ID : 65497829483
Status : Answered
Chosen Option : 4

Q.17 Six friends are sitting in a straight line. E is 4th from the right. E is between B and D. A
is adjacent to B. D is adjacent to C. D is between E and C. F is adjacent to C. Who is
sitting between F and D?

Ans X 1.A
X 2.E

& 3.C
X 4.B

Question ID : 65497829487
Status : Answered
Chosen Option : 3

Q.18 Select the number from among the given options that can replace the question mark
(?) in the following series.

153, 149, 143, 135, ?
Ans X 1.131
o 2.125
X 3.129
X 4.127

Question ID : 65497829494
Status : Answered
Chosen Option : 2

Q.19 |f the diagonal of a square is increased by 4 cm, its area increases by 56 cm?. Find the
ratio of the new area of the square to the initial area of the square.

Ans o 1.16:9
X 2.13:8
/< 3.18: 11
K 4.12:5

Question ID : 65497829485
Status : Not Answered
Chosen Option : --




Q.20 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

IOM, NTR, SYW, ?
Ans o 1. XDB
X 2. JPN
X 3.NSX
K 4.07Z

Question ID : 65497829496
Status : Answered
Chosen Option : 1

Q.21 select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.

P

MERCHANT |
Q

e viTMAHDAAM
X2 NEKVHCHU L
XsTUOHAAIM
x+ WEEKECHVUL

Question ID : 65497829503
Status : Answered
Chosen Option : 1




Q.22 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the

Ans

following figures. How would this paper look when unfolded?

O
e
| O
e
N V

B

Question ID : 65497829486

Status : Answered

Chosen Option : 4

Q.23 In a certain code language, 'PHENYL' is coded as ‘9-11-17-8-5-13’ and '"COLONY" is

Ans

coded as ‘6-12-13-12-8-5’. How will 'COLONEL' be coded in that language?
X 1.6-12-12-13-8-17-13

" 2.6-12-13-12-8-17-13
< 3.6-12-12-13-8-11-13
X 4.6-17-12-13-8-13-11

Question ID : 65497829501

Status : Answered

Chosen Option : 2




Q.24 select the option in which the given figure is embedded (rotation is NOT allowed).

N

Ans

2

Question ID : 65497829491
Status : Answered
Chosen Option : 3

Q.25 ‘Experimenter’ is related to ‘Lab’ in the same way as ‘Chef’ is related to
Ans X 1. Cooking

X 2. Food
< 3. Dishes
« 4. Kitchen

Question ID : 65497829497
Status : Answered
Chosen Option : 4

Section : Part B General Knolwedge and General Awareness

Q.1 launched the Fit India Mobile App at an event at Major Dhyan Chand National
Stadium, New Delhi in August 2021.

Ans  # 1. Anurag Singh Thakur
2. Nisith Praman k
25 3. Ravi Mittal
#5 4. Usha Sharma

Question ID : 65497829530
Status : Answered
Chosen Option : 1




Q.2 The acceleration of an object is said to be when an object travels in a straight
line and its velocity increases or decreases by equal amount in equal intervals of time.

Ans X 1.negative
2 2. non-uniform

" 3. uniform
X 4. positive

Question ID : 65497829516
Status : Answered
Chosen Option : 3

Q.3 Who was appointed as the State Election Commissioner of Jammu and Kashmir on
October 30, 2020?

Ans  # 1. Kewal Kumar Sharma
% 2.V Bhaskaran

25 3. Shatrunjay Kumar Singh
& 4. Manoj Kumar

Question ID : 65497829520
Status : Not Answered
Chosen Option : --

Q.4 Which of the following animals breathes through its skin?
Ans o 1. Frog

X 2. Rabbit

25 3. Peacock

< 4. Deer

Question ID : 65497829514
Status : Answered
Chosen Option : 1

Q.5 Which of the following is the most reactive metal?
Ans X 1. Silver

X 2. Aluminium

2 3.1Iron

4" 4. Potassium

Question ID : 65497829513
Status : Answered
Chosen Option : 4

Q.6 Which non-metal among the following is poly-atomic?
Ans 4 1. Sulphur

X 2. Argon
3. Oxygen
25 4. Helium

Question ID : 65497829525
Status : Answered
Chosen Option : 1




Q.7 Who among the following was appointed as the first Municipal Commissioner of
Bombay in 1865?

Ans X 1. William Hunter
& 2. Charles Atkinson
& 3. HFowler
4" 4. Arthur Crawford

Question ID : 65497829510
Status : Not Answered
Chosen Option : --

Q.8 ‘LaLiga’ title is associated with
Ans X 1.tennis

«# 2. football
& 3. cricket

X 4. sprinting

Question ID : 65497829508
Status : Answered
Chosen Option : 2

Q.9 In which of the following states is the Bhoramdeo temple located, where each year in
the last week of March ‘Bhoramdeo Mahotsav’ is celebrated?

Ans X 1. West Bengal
& 2. Karnataka
25 3. Tamil Nadu
¥ 4. Chhattisgarh

Question ID : 65497829512
Status : Answered
Chosen Option : 1

Q.10 Who became the first Indian Air Force pilot to perform a wingsuit skydive jump? S/he
achieved this feat in July 2019.

Ans X 1. Shital Mahajan Rane
#5 2. Archana Sardana
/< 3. Rachel Thomas
" 4. Tarun Chaudhri

Question ID : 65497829518
Status : Not Answered
Chosen Option : --

Q.11 was the son of a Chief of the Jnatrika (or Jhatrika) Kshatriya clan.
Ans X 1. Gautama Buddha

X 2. Rishabhanath
¥ 3. Vardhamana Mahavira
& 4. Parshvanath

Question ID : 65497829527
Status : Not Answered
Chosen Option : --




Q.12 was the residence of the Mughal emperors of India for nearly 200 years until
1857.

Ans X 1. Jehangir Mahal
" 2. Red Fort

& 3. Agra Fort

X 4. Pari Mahal

Question ID : 65497829521
Status : Answered
Chosen Option : 3

Q.13 Which of the following states won the ‘Best Tableau’ award at the 71st Republic Day
parade in January 2020?

Ans 1. Assam

X 2.Goa

X 3. Odisha

2 4. Uttar Pradesh

Question ID : 65497829523
Status : Answered
Chosen Option : 4

Q.14 The Uttar Pradesh cabinet approved a proposal to name a zoological garden at
after the freedom fighter and revolutionary Ashfaqullah Khan.

Ans 1. Gorakhpur
#< 2. Faizabad
X 3. Shahjahanpur
X 4. Ghaziabad

Question ID : 65497829517
Status : Answered
Chosen Option : 1

Q.15 Which of the following statements about the Mahanadi river is INCORRECT?
Ans X 1. ltrises in the highlands of Chhattisgarh.

4" 2. It drains into the Arabian Sea.
< 3. A part of its river basin lies in Maharashtra.
& 4. Itis about 860 km long.

Question ID : 65497829522
Status : Answered
Chosen Option : 2

Q.16 Who is the author of the book ‘Courts of India: Past to Present’?
Ans X 1. Shashi Tharoor

X 2. Satyarth Nayak
X 3. Jayanta Kalita
¥ 4. Ranjan Gogoi

Question ID : 65497829515
Status : Answered
Chosen Option : 4




Q.17 The Government of India approved the Ayushman Bharat Pradhan Mantri Jan Arogya
Yojana (AB-PM-JAY) in the year

Ans 4 1.2018
< 2.2014
< 3.2019
X 4.2015

Question ID : 65497829531
Status : Answered
Chosen Option : 3

Q.18 The money value of all the final goods and services produced within the country
during a particular year is called .

Ans X 1. per capita income
25 2. net Domestic Product
25 3. national Income

«# 4. gross Domestic Product

Question ID : 65497829511
Status : Answered
Chosen Option : 4

Q.19 Which of the following options gives the correct chronological order of rulers of the
Mauryan Empire?
Ans X 1. Brihadratha - Chandragupta - Bindusara - Ashoka

X 2. Ashoka - Brihadratha - Chandragupta - Bindusara
¥ 3. Chandragupta - Bindusara - Ashoka - Brihadratha
25 4. Bindusara - Chandragupta - Ashoka - Brihadratha

Question ID : 65497829528
Status : Answered
Chosen Option : 3

Q.20 Which of the following is NOT a fundamental right under the 44th Amendment Act,
1978 of indian constitution?

Ans  # 1. Right to property
& 2. Right to equality
X 3. Right against exploitation
X 4. Right to religion

Question ID : 65497829519
Status : Answered
Chosen Option : 1

Q.21 Which of the following countries hosted the 13th edition of the 2020 ICC Under 19
Cricket World Cup?

Ans X 1.England
4" 2. South Africa
X 3. Australia
& 4. India

Question ID : 65497829526
Status : Answered
Chosen Option : 2




Q.22 In which state is the Hogenakkal Falls located?
Ans X 1. Andhra Pradesh

X 2. Kerala
25 3. Maharashtra
¥ 4. Tamil Nadu

Question ID : 65497829507
Status : Not Answered
Chosen Option : --

Q.23 The Life Insurance Corporation of India Act was passed by the Parliament in the year

Ans o7 1.1956
X 2.1948
X 3.1971
X 4.1965

Question ID : 65497829529
Status : Not Answered
Chosen Option : --

Q.24 Which of the following is a biometric enabled digital service for pensioners launched
by the Government of India?

Ans X 1. Pradhan Mantri Jeevan Jyoti Beema Yojna
/2. Pradhan Mantri Mudra Yojna
25 3. Pradhan Mantri Jan Dhan Yojna

" 4. Jeevan Pramaan

Question ID : 65497829509
Status : Answered
Chosen Option : 4

Q.25 Tvesa Malik is an Indian player.
Ans X 1.volleyball

o 2. golf

X 3.chess

X 4. basketball

Question ID : 65497829524
Status : Not Answered
Chosen Option : --

Section : Part C Elementary Mathematics




Q1 Thevalue of 42 ~ 90f 6 - [64 + 48 X 3-15 + 8 X (11-17) + 9] = 14 is:

Ans
x1. 12
36
x2 L
18
29
o 3 —
72

xa 2

12

Question ID : 65497829551
Status : Not Answered
Chosen Option : --

Q.2 Acando E of a work in 6 days and B can do 30% of the same work in 3 days. They worked together for 4 days. The
remaining work was completed by C alone in 6 days. B and C together can complete 70% of the original work in:

Ans

X1 5% days
X 2. 4 days
X 3. 5 days

4 4% days

Question ID : 65497829553
Status : Answered
Chosen Option : 4

Q.3 The amount of a certain sum in 3 years at simple interest at x % p.a. is T5.472 and the amount of the same sum in 7%

vears at the same rate, at simple interest is T6,930. The value of x is:

Ans 1. 7.2
X285
X3 8
X4 6.5

Question ID : 65497829555
Status : Not Answered
Chosen Option : --

Q.4 There are two sections A and B of a class, consisting of 38 and 42 students, respectively. If the average weight of the
students of section A is 55 kg and that of section B is 32 kg, find the average weight of all the students in the class.

Ans X 1. 42 kg
2 42925 kg
X 3. 44.925kg
X 4. 40.925 kg

Question ID : 65497829537
Status : Answered
Chosen Option : 2




Q.5 Adealersold an article at a loss of 4%. Had he sold it for T120 more, he would have gained 8%. To gain 11%, he should
sell the article for?

Ans 1 T1,110
X2 F1,200
X3 31,320
X4 1210

Question ID : 65497829549
Status : Answered
Chosen Option : 1

Q.6 A sum fetched a simple interest of T3.040 at the rate of 8 %.p.a. in 5 years. What is the sum?
Ans X 1. 8,600

2. 7,600

x 3. 37,700

X 4. 36,600

Question ID : 65497829539
Status : Answered
Chosen Option : 2

Q.7 The greatest number that on dividing 2675 and 2320 leaves the reminders 3 and 6, respectively, is:

Ans X' 1. 168
X2 170
X3 187
4 178

Question ID : 65497829536
Status : Answered
Chosen Option : 4

Q8 gSpeed of an aircraft is 120 knmymin. This speed in m/sec is:
Ans 1. 120000

X 2. 12000

X3.1200

« 4. 2000

Question ID : 65497829543
Status : Answered
Chosen Option : 4




Q.9 AandB can complete a piece of work in 120 days, B and C can complete it in 150 days, and A and C can complete it in
200 days. In how many days can B alone complete two-fifths of the same work?

Ans X 1200
X 2100
« 3. 80
X4 175

Question ID : 65497829547
Status : Answered
Chosen Option : 3

Q.10 If the sides of a triangle measure 21 cm, 35 cm and 28 cm, what is the measure of its in radius? (in cm)

Ans X1 8 cm
2 T7cm
X3 2lcm
X4 9cm

Question ID : 65497829541
Status : Not Answered
Chosen Option : --

Q.11 After giving a discount of 20% on the marked price of an article, it is sold for ¥120. Had the discount not been given,
the profit would have been 20%. What is the cost price of the article?

Ans X1 F120
X2 F130
X3 F100
o 4 T125

Question ID : 65497829550
Status : Answered
Chosen Option : 4

Q.12 Adiscount of 20% on the price of an article is the same as a discount of 25% on the price of another article. The prices

of the two articles will be, respectively:

Ans X 1. 340 and T50
2 2. 360 and T50
+ 3. 50 and 340
X 4 F350 and T60

Question ID : 65497829545
Status : Answered
Chosen Option : 3




Q.13 The sides of a triangular park are 96 m, 110 m and 146 m. Its area is equal to the area of a field in the shape of a
rhombus, one of whose diagonals is 60 m. The length (in m) of its other diagonal is:

Ans 1. 176
X2 132
X3 218
X4 88

Question ID : 65497829556
Status : Not Answered
Chosen Option : --

Q14 What is the third proportional to 9 and 36?
Ans X172

X2 288

o 3 144

X4 122

Question ID : 65497829540
Status : Answered
Chosen Option : 3

Q15 Solve the following:
234523 % 523 = K23
Ans  X'1. 1005

X2 1235

X3 1542

« 4 1046

Question ID : 65497829542
Status : Answered
Chosen Option : 4

Q.16 A shopkeeper has some toys. He sells two-third of the toys at a profit of 35% and the remaining toys at 10% loss. What
is his overall percentage of profit?

Ans X 1. 16%
« 2. 20%
X3 18%
X4 25%

Question ID : 65497829552
Status : Answered
Chosen Option : 2




Q.17 Two trains start from places A and B, respectively, and travel towards each other at the speeds of 60 knvh and 50 km/h,

respectively. By the time they meet, the faster train has travelled 110 km more than the slower train. What is the distance
between A and B?

Ans X' 1. 1100 km
X 2. 1200 km
X3 1150 km
¢4 1210 km

Question ID : 65497829548
Status : Answered
Chosen Option : 4

Q.18 The ratio of two numbers is 9 : 5. If 8 is added to the larger number and 4 is subtracted from the smaller number. the
greater number becomes twice the smaller number. The larger number is:

Ans X' 1. 110
X2 104
X3 144
4 114

Question ID : 65497829538
Status : Answered
Chosen Option : 3

Q.19 Vignesh spends 422 of his monthly salary on food, 16% on house rent, 11% on entertainment and 7% on conveyarce.

But due to some family function. he has to borrow 12,000 from a money lender to meet the expenses of T18,000. What
is his monthly salary?

Ans X 1. 20,000
X 2. 24,000
X 3. 330,000
v 4 325,000

Question ID : 65497829535
Status : Answered
Chosen Option : 4

Q.20 The average of 4, 6, 8, 12 and x is 7 and the average of x , 9, 13, 15 and y is 9. What is the value of 2x - 3y?
LUCHED S

x23

X3 19

v X |

Question ID : 65497829544
Status : Answered
Chosen Option : 4




Q.21 If the compound interest on a certain sum of money for two years at 9% p.a. is T3,762. then the sum is:

Ans 1. 320,000
X 2. ¥18,000
X 3. 325,000
X 4. 324,000

Question ID : 65497829533
Status : Answered
Chosen Option : 1

Q.22 The ratio of the ages of A, B and C, 5 years ago, was 4 : 5 : 7. The sum of their present ages is 135 years. What will be
the sum of the ages (in years) of B and C, 3 years from now?

Ans  X1. 100
X< 2. 96
« 3. 106
x4 112

Question ID : 65497829554
Status : Answered
Chosen Option : 2

Q.23 Three numbers are in the ratio 4 : 9 : 13 and their LCM is 2340. Their HCF is:
Ans X1 7

<23

<3 4

45

Question ID : 65497829534
Status : Answered
Chosen Option : 4

Q.24 A man sells two articles at ¥9.180 each. He gains 8% on one article and loses 15% on the other. His overall profit or loss

Ans 1. Profit T840
X 2. Loss T840
+ 3. Loss 3940
X 4. Profit 940

Question ID : 65497829532
Status : Not Answered
Chosen Option : --

Q.25 The price of a car increased by 5% while its sales decreased by 16%. What is the percentage change in the total

revenue?

Ans 1. 504 decrease
& 2. 9% increase
X 3. 99 decrease

" 4. 504 increase

Question ID : 65497829546
Status : Not Answered




Section : Part D English

Q.1 Select the most appropriate meaning of the given idiom.

To be on the same page

Ans X 1. To be published together

/% 2. To read a book together

X 3. To understand what the other says

«# 4. To agree on something

Question ID : 65497829571
Status : Answered
Chosen Option : 3

words.

One who collects coins
Ans X 1. Fatalist

#< 2. Philatelist
¥ 3. Numismatist
< 4. Anthropologist

Q.2 Select the option that can be used as a one-word substitute for the given group of

Question ID : 65497829567
Status : Answered
Chosen Option : 3

Spellbound
Ans X 1. Amazed

/< 2. Captivated
X 3. Enthralled
«" 4. Disenchanted

Q.3 Select the most appropriate ANTONYM of the given word.

Question ID : 65497829569
Status : Answered
Chosen Option : 4

contains a grammatical error.

We’ll look at / your pet / when you go / on a vacation.
Ans o 1. We'll look at

/5 2. 0on avacation
25 3. when you go
< 4. your pet

Q.4 The following sentence has been split into four segments. Identify the segment that

Question ID : 65497829574
Status : Answered
Chosen Option : 1




Q.5 Select the most appropriate option that can substitute the underlined word in the
given sentence.

Besides generating revenue, tourism brings a break from the ceremony of daily life.
Ans X 1.scrutiny

X 2. symphony
+" 3. monotony

X 4. company

Question ID : 65497829559
Status : Answered
Chosen Option : 3

Q.6 Select the correctly spelt word.
Ans X 1. Asassisnation

< 2. Bureaucracy
2 3. Philianthropist

" 4. Peadeatrician

Question ID : 65497829568
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate meaning of the given idiom.

Tickled pink
Ans X 1. Fond of pink
< 2. Very sensitive
¥ 3. Very pleased
X 4. Easily teased

Question ID : 65497829560
Status : Answered
Chosen Option : 3

Q.8 Select the most appropriate option to fill in the blank.

My sister bought the watch.
Ans X 1. antipathy

#5 2. colloquial
X 3. antilocal

" 4. antique

Question ID : 65497829570
Status : Answered
Chosen Option : 4




Q.9 Select the most appropriate SYNONYM of the given word.
Ample

Ans X 1.Sparse

" 2. Sufficient

#< 3. Limited

& 4. Scarce

Question ID : 65497829575
Status : Answered
Chosen Option : 2

Q.10 Select the option that can be used as a one-word substitute for the given group of
words.

Many fish swimming together
Ans 4 1. Shoal

& 2. Bevy
5 3. Brood
25 4. Flock

Question ID : 65497829561
Status : Answered
Chosen Option : 3

Q.11 Select the option that can be used as a one-word substitute for the given group of
words.

A person who supervises during an examination
Ans o 1. Invigilator
X 2. Examinee
#< 3. Principal
X 4. Administrator

Question ID : 65497829576
Status : Answered
Chosen Option : 1

Q.12 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The most important / of all my goals / are to/ learn English.
Ans X 1. of all my goals
5 2. The most important
" 3.areto
25 4.learn English

Question ID : 65497829557
Status : Answered
Chosen Option : 3




Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The condition of the house had been so deteriorated from lack of maintenance that
nobody wanted to purchase it.

Ans X 1. No substitution required
X 2. was deteriorating
< 3. was so deteriorated

" 4. had so deteriorated

Question ID : 65497829572
Status : Answered
Chosen Option : 3

Q.14 Select the most appropriate synonym of the given word.

Submissive
Ans X 1. Adamant

25 2. Obdurate
+" 3. Obedient
& 4. Obstinate

Question ID : 65497829558
Status : Answered
Chosen Option : 4

Q.15 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

The new President has bring_in many reforms.
Ans X 1. No improvement required
" 2. brought about
£ 3. bring up
25 4. brought out

Question ID : 65497829573
Status : Not Answered
Chosen Option : --

Q.16 Select the most appropriate ANTONYM of the given word.
Fictitious
Ans X 1.False
" 2. Factual
& 3. Imaginative
X 4. Subjective

Question ID : 65497829566
Status : Answered
Chosen Option : 2




Ans

Q.17 Select the most appropriate option to fill in the blank.

She why | had not sent her an invitation.

& 1. granted
" 2. enquired
X 3. desired
& 4. denied

Question ID : 65497829564
Status : Answered
Chosen Option : 2

Ans

Q.18 Select the most appropriate option to fill in the blank.

The government should take steps to pollution.

¥ 1. control

5 2. convey
25 3. conduct

X 4. consume

Question ID : 65497829562
Status : Answered
Chosen Option : 1

Ans

Q.19 Select the INCORRECTLY spelt word.

" 1. Wistle
2. Cereal
25 3. Tunnel
X 4. Rustle

Question ID : 65497829563
Status : Answered
Chosen Option : 1

Ans

contains a grammatical error.

I wish / | am / the Principal / of the school!

X 1. 1 wish

25 2. of the school

& 3. 1am
25 4. the Principal

Q.20 The following sentence has been split into four segments. Identify the segment that

Question ID : 65497829565
Status : Answered
Chosen Option : 3




Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Writing is a form (1) , and neat handwriting is important when writing (2) that
will be read by someone else. We (3) by the quality of our handwriting, and (4)
our handwriting is poor, we (5) to be lazy or incompetent.

SubQuestion No : 21
Select the most appropriate option to fill in blank no. 1.
5 1. in expression

< 2. to expressing
< 3. for expression

o 4. of expression

Question ID : 65497829578
Status : Answered
Chosen Option : 4

Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Writing is a form (1) , and neat handwriting is important when writing (2) that
will be read by someone else. We (3) by the quality of our handwriting, and (4)
our handwriting is poor, we (5) to be lazy or incompetent.

SubQuestion No : 22
Select the most appropriate option to fill in blank no. 2.

#< 1. nothing
& 2. everything
«# 3. anything
#5 4. each thing

Question ID : 65497829579
Status : Answered
Chosen Option : 3

Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Writing is a form (1) , and neat handwriting is important when writing (2) that
will be read by someone else. We (3) by the quality of our handwriting, and (4)
our handwriting is poor, we (5) to be lazy or incompetent.

SubQuestion No : 23
Select the most appropriate option to fill in blank no. 3.
25 1. should be often judged

¥ 2. are often judged
/5% 3. have been often judged
< 4. judged often

Question ID : 65497829580
Status : Answered
Chosen Option : 2




Q.24
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Writing is a form (1) , and neat handwriting is important when writing (2) that
will be read by someone else. We (3) by the quality of our handwriting, and (4)
our handwriting is poor, we (5) to be lazy or incompetent.

SubQuestion No : 24
Select the most appropriate option to fill in blank no. 4.

& 1. as

#< 2. while
/< 3. where
«” 4. when

Question ID : 65497829581
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Writing is a form (1) , and neat handwriting is important when writing (2) that
will be read by someone else. We (3) by the quality of our handwriting, and (4)
our handwriting is poor, we (5) to be lazy or incompetent.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.

Ans

o 1. appear
X 2. see
< 3. expose

#< 4. look

Question ID : 65497829582
Status : Answered
Chosen Option : 1

Section : Part D Hindi

Q1

Ans

o v a1 A Y@Tea s @1 ufautiid w1 & R Tav Suge fawed &1 9= 31
wl%sﬁuﬁwrfﬁaﬁ P DI ATAAH T 81 7, o) fIpeq el agara F enazaear T8 &
BT TG P

TS ATEd B G TS FUAT fean B
7 1. HTS W8 gRI
X 2. 41 9Re
X 3. o seara & srazadar el B
o 4. HIS FTEE A

Question ID : 65497829593
Status : Not Answered
Chosen Option : --




Q.2 fyod = 3 g & g 9o Sugea v o1 977 By
TEJA DI STl BTE TeT ATl
Ans X1 gdl
X 2 wd@t
v 3.3

X 4.9

Question ID : 65497829587
Status : Not Answered
Chosen Option : —

Q.3 fyod = 3 g & g 9ol Suge v &1 9g BY-
FTiAfrmsd_ fmm
Ans X 1. 0N
X 2. 3=l
3. WA
X 4. 3fgarH

Question ID : 65497829586
Status : Not Answered
Chosen Option : —

Q4 %qmammagmmﬁﬁmﬁﬂégﬁ%mﬁﬁaﬁﬂﬁ%ﬁ‘ﬁéaﬁﬂﬁ%’
I

®3 Yoa H(1) A= P2y ARwrd 2213y 318 IR 7@ 21(9)

Ans X 1.3
& 2.1
X 3.4
X 4.2

Question ID : 65497829594
Status : Not Answered
Chosen Option : -

Q5 3 e g A Y@ifed @e & ufawnfid $3 & fore wed Suge e s1aga =31
Tfe 3 faRnfid $1 $1 savgsar 181 €, a9 Aoy fodt 95 3t sawaea 18 &

BT I P

U9 0 a9 A fewet & wawr @ g9 $wi 79 # ¥R g€l

Ans X 1. foodft Seaa @ SfaRadHdl T8l gl
X 2.30d &Y ol d el H SfaH H gd
X 3.A U Il Y, Rcell & SaRA U BH
o 4. 30d &Y o9, faerdl & SieeH U gH

Question ID : 65497829588
Status : Not Answered
Chosen Option : —




Q.6 FHU DI 3R W rET T F T UF =g BA-
Ans X 1. 3T

X 2. ufaarHt

o 3. SETHl

X 4. ST

Question ID : 65497829601
Status : Not Answered
Chosen Option : —

Q7 39 fiwey o1 999 ¥ o e geray o1 ol e sear 21
AT ST AT
Ans 1 TG
X 2. GRS TG
X 3. fmem
X 4 SgdgE g

Question ID : 65497829592
Status : Not Answered
Chosen Option : —

Q.8 fog e aremy & foe ve v i)

wrefr a1 e A arer
Ans p 1 UPi
X 2. 9fq
X 3. Had d&d
X 4.4

Question ID : 65497829583
Status : Not Answered
Chosen Option : —

Q9 f3u e wsg & fadm g1
fortar
Ans X 1. Tal
X 2.7
o 3. HieH
X 4. fama

Question ID : 65497829591
Status : Not Answered
Chosen Option : —

Q.10 f=mer 1 el 2eg EF -
Ans X 1 f@Re

X 2. &ftrw

3.

X 4. fadvrd

Question ID : 65497829600
Status : Not Answered
Chosen Option : —




Q.11 3T 77T W BT FHEN Weg gH-
gfea

Ans 1. gad

2. 9U™

X 3.9grgen
X 4.9aH

Question ID : 65497829595
Status : Not Answered
Chosen Option : —

Q.12 FE T arel Weg BT 997 Y|
Ans X 1.UTEG
2. V5T
X 3.U@G
X 4.19gdIg

Question ID : 65497829590
Status : Not Answered
Chosen Option : —

Q.13 Tgu1 & WA gEard - I & g ue e forfae-
Ans X 1.quqE

2. dgH9

X 3.diegey

X 4.7aR

Question ID : 65497829598
Status : Not Answered
Chosen Option : —

Q.14 T Tt aTet Ve BT 90T BY
Ans 1 Gl

X 2. 9t

< 3. Tt

X 4. gradt

Question ID : 65497829589
Status : Not Answered
Chosen Option : —

Q.15 3% T qreg & Y@Iied %1 B ufawiia w3 & o wes Suge fea a1 w91
I ST BT 35T &Y Bl
Ans X 1. 3TH
2.3
X3
X 4.YuA

Question ID : 65497829596
Status : Not Answered

Chosen Option : —




Q.16 fyaa wF & g & fre et Suged e o1 T w31
WEHHIMWR_____ Tl
Ans 1 T
X 2. &
X 3.u
X 4. 3@l

Question ID : 65497829602
Status : Not Answered
Chosen Option : —

Q17 %qnqamana} YR I & Pl 7 IR A R R @ ¢ AP R @Y
I

Tepte et (1) WRiE FETe (2))\ TP E (3)\ FIE 3R T 2 (4)
Ans X 1.2
x 24
3.3
X 4.1

Question ID : 65497829584
Status : Not Answered
Chosen Option : —

Q18 RIM g F g um AR &2
Y AR ATE I ey F a9 Rar
Ans X 1 T4 9gRIAE
X 2. feargl
& 3. 3Tb U H
X 499

Question ID : 65497829599
Status : Not Answered
Chosen Option : -

Q.19 37T & HeAT Feray BT et 3 2-
Ans X 1 FEEHI

X 2. TEE AT

3. 9F SifEH H STeMl

2 4. T AT

Question ID : 65497829597
Status : Not Answered
Chosen Option : —




Q.20 3T MY ez ST FHFT Weg FaTIC-
EUGH

Ans X 1. DD

X 2. 3R

X 3 R

4. Difdar

Question ID : 65497829585
Status : Not Answered
Chosen Option : —

Comprehension:

YRday (1) B SR S H HT =R a8, Afte 39 Wadh Hick URd Bt U@ & (2)
@ (3) B 21 TP & T BT wicl & Sl 3P Aedl HSg WS, W el

a1 (4) B Sl SFId Al # STHAT TET § SR U g1 (5) 2 Sl o 3Gl H e

I 71 dg, SUMYE, JIHAU 3R AeIYRd — 4 81 d °IE § Slel W gdR! it yeme urt dich €1

g st & IR SWIGd TR & SHTUR W iforg|

SubQuestion No : 21
Q.21 TR & e M (1) ¥ fore gaifte ugea W 8-
Ans X 1 fig
V2D
X 3. 3Fd
X 4. 7D

Question ID : 65497829604
Status : Not Answered
Chosen Option : —

Comprehension:

YRy (1) B SR S H YU 9 a4 81, Af 3 Yad iR URA P T & (2)
3T B (3) Pl &1 TP Bl TG &I oid & off 3@ Afedl § 98 Wi e, UP of
a1 (4) & Sl S Al # STHAT 36T § 1R U gl (5) B Sl o 3Gl H e
W71 dg, IUMYE, I 3R HeTHR — T g1 9 U1 § wel R gaRt I yere gt didt €1

FE st & IR SWIad TR & SHTUR W giforg|

SubQuestion No : 22
Q.22 e & e Wi (2) ¥ forg waffie Iuge e &rm-
Ans X 1. TRHTEAT
o 2. ST
X 3. fwr
X 4 vfagr

Question ID : 65497829605
Status : Not Answered
Chosen Option : —




Comprehension:

YRday (1) 2 R S H HT TR a8, Afte 39 Wedh Hick URd Bt U & (2)
3T DI (3) B 81 UD B T &1 oI & Sl 3 Afedl § 98 Wl 8, P o
@1 (4) B Sl 3 Ul § SR X618 3IR U &l (5) B oIl 3Fd BGl H e
@I 31 dg, IUMYE, IHAU 3R HeIHRd — 4 81 d °IE § Slel W gHR! i yeme urt dich €1

99 Usll & IR IWIad T & YR W S|
SubQuestion No : 23

Q.23 TR & e wIF (3) ¥ fore walfte Iugea W 8-
Ans X 1 GEifdd

o 2. Siitcuad

X 3. 3fftfa

X 4. vl

Question ID : 65497829606
Status : Not Answered
Chosen Option : —

Comprehension:

YRGS (1) 3 3RSy are Rt 1t 81, Af 37 s iR YRA B TaH € (2)
B(3) B el Ub ol Wi B od ¢ S 3Hd Aieal A S8 @I e, Wh &
GDI(4) ¢ ot 3ch UG S 361 & SR TDH & (5) 2 Sl 3Fid Bal d e
W71 dg, IUMYG, I 3R HETHRT — T 81 3 U1 § wel R gARt 9 yeme urt didt €1

F1E st & IR SWIad TR & SHTUR | giforg|

SubQuestion No : 24
Q.24 Ty & e I (4) ¥ fore waifie Suged wee -
Ans X 139

X 2. f=

X 3 <o

4. fa

Question ID : 65497829607
Status : Not Answered
Chosen Option : —

Comprehension:

YRy (1) 3 3R <=1 H HT e forat it 81, afthT 9 wedh Hiar HRd 3t Ua §1 (2)
AT BN (3) Pl 61 TP &l TG &I oid & off 3Hd Afedl H 98 W@l 6, UP af
g @1 (4) T N 3 U H ST 6T § SR U gt (5) B SNt 3% Bl H e
I 71 dg, IUMYE, IHAT 3R HeTHRT — T 81 9 UIe § Sel R gdRt 9t ymere gt didh €1

1 U3l & IR IS T P YR R g
SubQuestion No : 25
Q.25 T & R ®iT (5) F forg walfie Suge wreg drm-
Ans  » 1 g
X 2.9
X 3.9d
X 4 ord

Question ID : 65497829608
Status : Not Answered
Chosen Option : —
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